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FACTORISING QUADRATICS

Ref: (}227.2 S 2

STAGE TWO
A1l Factorise: A2 Factorise: A3 Factorise: A4 Factorise:
¥ +x-20 ¥ —2x—15 ¥ +3x—4 x> —Tx—18

B1 Factorise:
x*+9x +20

B2 Factorise:
x> —8x+15

B3 Factorise:
¥ —5x+4

B4 Factorise:
X +9x+ 18

C1 Factorise:
X' —2x—24

C2 Factorise:
¥+ 11x+24

C3 Factorise:
x*+23x — 24

C4 Factorise:
x* — 14x + 24

D1 Which of the following cannot
be factorised:

x*+x+42 or
X +x—42
Explain your answer.

D2 Which of the following cannot
be factorised:

x*+9x—14 or

x*—9x + 14
Explain your answer.

D3 b is an integer. Find the values
of b for which the expression

X%+ bx +32

can be factorised.

D4 cis a positive integer. Find the
values of ¢ for which the expression

¥+ 8x+c

can be factorised.

E1 Factorise:

2
X —x+-—

E2 Factorise:

X +x—=
4

E3 Factorise:
4

2
XT—x—=

9

E4 Factorise:
14

X tx——

25
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STAGE TWO
A1l Factorise: 1% 20 A2 Factorise: 1% 15 | A3 Factorise: 1x 1 = | A4 Factorise; 1% 18
2+_@/2x10 -\‘2_2-'\‘@//”3)(5* -2+3 /zxz _\‘2—7_—18 //"zxg*
x5 % 3X 6
(x +5)(x—-H) (x +3)(x—5) (x+W)(x-1) (x+2)(x-9)
B1 Factorise: 1% 20 | B2 Factorise; 1x 15 | B3 Factorise: 1x U4 % | B4 Factorise; 1% 18
xz+9@/2x10 X = 8+ 15 /3x5* _\-2_5.\<+4>/2X2 2+9@/2x9
Hx 5% : 3X 6 *®
(X +4)(x + 5) (x=3)(x-5) (x=1)(x-H) (X +3)(x +6)
C1 Factorise; 1 % 2l C2 Factorise: 1% on | C3 Factorise: 1% ou = | C4 Factorise: 1% 2l
_2,xO//*2x12 .\'2+11_@//*2x12 x2+234- //*zxm .\‘2—14@//*2x12x-
3x 8 3IX 8% 3x 8 3x 8
(X +U4)(x - 6) %6 (X+3)(Xx+8) X6 (X +24)(x - 1) X6 (x-2)(x -12) X6
Dl XHx—42 =(x+7)x—6) D2 2 _9y414 =(x-2)(x-7) D3 > 1% 32 D4 cis apositive integer. -
__________________________________________________ e bx@ 2x 16 | The factor pairs 2% 6
x2+x+42 cannot be factorised x>+ 9x — 14 cannot be factorised looking. at the fact s the Hx 8 must add to 8 3x5
because there are not any factor pairs because there are not any factor pairs :;S;ge valuesaq:ofrbp ;rl;s’ X+ 8x@ Hx i
“of H2 that add to give 1’ of 14 that subtract to give ¢ 33, 18, 12 (or -33, -18, -12) S0 ¢ = 7,12, 15 or 16
E1 Factorise: E2 Factorise: E3 Factorise: E4 Factorise:
¥ oxis —(x—g)[x—gj Px—o —[x+§j(x—i) Pox-3 —[x+gj(x—ij I —[x+z)[x—%)
4 2 2 4 2 2 9 3 3 25 5 5
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